AM147 11:30am
Class 12: limit cycles in 2D
Goals for the day:

1. What is a limit cycle?

2. How can we argue one exists (or doesn’t exist)?

3. In the van der Pol example, how does the limit cycle arise?
Team problems:

1. Consider the (1D) dynamical system

dxr

i (1 —2?)(4 — 2?)

with x restricted to x > 0. Find the fixed points, determine their stability, and draw the phase
line.

2. Consider the (2D polar) dynamical system

(a) Sketch the phase portrait for this system using the information from the question above.

(b) Given the initial condition x(0) = 0.1,y(0) = 0, use the phase portrait to sketch an approxi-
mate form for z(t).

3. Consider the dynamical system

F=7r1—1r)4-r?
6=2—r2

Sketch the phase portrait for this system.

4. Consider the dynamical system

7= rsin?0(1 —r?)(4 — r?)
f=1.
Sketch the phase portrait for this system.
Answers:

1. f(z) = z(1 — 2%)(4 — 2?) = 0 gives the fixed points. These are z = 0, £1, £2. We restrict ourselves
to & > 0 so these are x = 0,1, 2.

For their stability, check the sign of %. % =(1-2?)(4—2?)+2(-22)(4—2?) +2(1 — 2%)(—22).

At z = 0 this is (1 — 0)(4 — 0) = 4. Because stability alternates we know that = = 0 is unstable,
x = 1 is stable and x = 2 is unstable, but let’s check these.

At =1 this is 1(—2)(4 — 1) = —6 so stable as expected.
At z = 2 this is 2(1 — 4)(—4) = 12 so unstable as expected.

2. Now we have a system given in polar.
r is a radius and € is an angle, both in the zy plane.

The fixed points for r are as above, with stability as given above. So there is a fixed point at (0, 0)
that is unstable, there is a limit cycle at radius 1 from the origin, which is stable, and there is a
limit cycle at radius 2 from the origin, which is unstable.



. The radial behavior is the same in this system but now 6 is not changing steadily in time. Instead
how it changes depends on the radius. At a radius of 7 = v/2, § changes sign, so for r < v/2,
increases with time. And for r > \/5, 0 is decreasing with time.

. Now the angular behavior is back to being steady, but the speed of motion in the radial direction
depends on angle. The limit cycle locations have not changed, but the way trajectories move on
the cycles and to get to the cycles now has an angular dependence. Trajectories have slow radial
change when 6 is near 0 or 7, so at those values, the angle keeps changing steadily while the radius
is barely changing. The radius changes fastest near § = 7/2 and 37 /2, where the radial change is
just like the parts above.
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Figure 1: From left to right, we have the phase portraits for 2, 3, and 4




